DIvISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH -10 TO 10 Rame:
Time: Score: y—
2 —18156 + (—9) = ) 39155 + 7 =
) 2160 = 2 = 1) 38857 = 10 =
123) HAKEG = (_7) — 138 41533 =8 =

2413096 =+ 8 =

25) 24967 + 9 =

26) —36806 + 10 =
21 34303 + (=5) =
28 —18586 + (—7) =
29 —=79545 + 9 =
130) —3823 + 1 =

181 52335 +9 =

32) 73841 + (—10) =
133 —13301 =3 =
By —893 =+ (—1) =

) 9581 + (—2) =

Mathematics: Division - Level 8 - Horizontal - Set 5
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32550 = (—7) =
14356 + (—8) =
59506 = 8 =
28742 = (—3) =
0516 = (—1) =
27922 = 5 =
—1209 + 1 =
—24336 + 5 =
—15957 + 2 =
8582 = 6 =
—26255 + (—5)

291 -2 =
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